B $ # ® 8B X
I F & # 2 — F  No|H110913B
% x F & 3 — K Noj
B i E & 3 — K Noj
woow @ H| 82472 ni|m #|HREE
W OHE B H 2011 9 A
B % @ $§| 415.65 i [ H&[WRCE
A w52 & om w 1,038.92 i [ HWOBTFR):  ChERD: 3 (PH):
R EEEEE i e & m
mo& b w T @ H Mle  ®  m & 300 m
ok w t @ # g w B = m
B 2 o8 # 2 % B @ # i [ [ = et
R wlg 8 m @ W Mg & 2 2® & 995 m
5 B = wlt — 7 @ i
EHARER Mg 8 = « & # M- = ® 0 m = 1105 =3%
BN RN EH Ml w2 =— = # mi|= % 94 =
% % & A NEEEEYEETY Ml ® A A
I =
= A | R LR i
T # Al B E v+ @ ?§| rn'IE W N B E & ¥TEEHE a
ZIEEEERE] IEEEEEEE &
L - F O o#® 2 B B B
D £l % 2] ] % . .
FRPISK 100.0 WEEI o B & g ®
I}m B [F L
EERAWER oa L, [F & i &
4Lh-~yk 129 7 |, . "
EZVERAMI 110 i B ® =
[ 532 -
WE+7Y ¥ A5—707— 03 x bd A #
BTF7Y%A4-707— 4.0 5 " " =+
B
1F 5K i ES
i = 2
b3 73 3 &
m
B
1FL =) &
m
# i 3
& # 1T T *
BAREREE oo (ni/Bn) 1.06 _
A5 888 2 R L
WRAFSAME -5 — D) 6.7 U9 -MER(E L) % + N
Y-MRR AR R E M 26 BREH ooeeek (m/FE ) 090 +
K== 1.9 K354 04 m T 23
£ ==V )RAGHH X ) 70| T k
£=-L0APBE) 75.3 9 2
[ 1.3 . N
5 VP (i X ) 0.3 =
VPZ(PBH) 4.9 4 =
B AEHEAL— G A ) X % 8 5 #
1E¥EAL—NPBE) 48 (EI-5F)
WBULE m3/E&m
F9FUN AN 05| ERLE m3/@&m
& LR AEENL ) LWAR 0.0]3h EERD) 051 m3/&m
pESEE)] 056 m3/&m
RIT PRESC) 013 &A/Em
SHEEEE ok (i /3E i) 0.76 Gy W) m3/Em
Wik 013 m/Em
ZES m/&m
EybEHE 019 m/&m
& TR L) 25| &89+ 0.23 m3/Em
REF-FGr) 27| Favy)-+ m3/FEm
b #8av) -+ 043 m3/Em
= RIS ma/gni
EFEH Boeeek (/R ) 224| BRI 103 m/Em
EOTAEREE ek (mi/Em) VPEEGE' - M) 21| TR m/Em
BFRE o (m/Em) 0.25 E'=-W0AGK =+ E) 5.1| L& # 389 m/Em
1EREAL— MR 34| ERERH 2518  kg/Em
EHEFF -V 17.3| 40 T 85 kg/ZEm
ERRER 70.9| L &R & FH 60.60 kg/FEM
” FTRAEE L) {8133 A\ /ton
%5 ke/ZBmi
i m/ton
& KBEE mi/ton
% | P m/ton
K —FEFEER +++ (m/ZEm) # (ZD4h)
TLE 97.0 AHGBEH) m3/Em
ATULR R GELEH) m3/Em
o [2F0
8 |733Fv
B |vvs— 30
A la-7uht-n
&
RE
Z 0t
SV ERBE O Sk (i/FE i) 0.10 FAEE R R0 (nl/FEni) 0.91 [ (R )
TIZ 87 RC 139
ATILA cB
N 1251 20.2 ALC
Fﬁ 7'5AF99 AR AV MR
o 108 A
m (KB 603| pg [LGS 452
Z 0t L [P )] 2338
PRIERBE O Forororx (i /FE i) 018| Y [EHERILY 17.1
K
W |REHILSILIR []
B Lz xH
# R [RC] (ni/ZEm) 0.09
FEE IR Z D] (m/FEm) 0.57




